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QUESTION 1

What is the maximum number of configurations, by default, that are recoverable using the rollback command?
A. 50

B. 25

C. 100

D. 75

Correct Answer: A

QUESTION 2

What are two examples of transit traffic? (Choose two.)

A. SFTP traffic that enters and exits the same interface on the local router.

B. SCP traffic that enters one interface and exits another interface on the local router.

C. SFTP traffic that enters one interface and is destined for another interface on the local router.
D. SCP traffic that is destined for the router\\'s loopback interface.

Correct Answer: CD

QUESTION 3

Which two keystrokes are used to auto-complete commands? (Choose two.)
A. Esc

B. Spacebar

C.Tab

D. End

Correct Answer: BC

QUESTION 4
What are three benefits of using IPv6? (Choose three.)

A. IPv6 supports a greater level of security by integrating features that were optional add- ons in IPv4.
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B. IPv6 reduces administrative overhead using stateless address autoconfiguration for hosts.
C. IPv6 eliminates the need for private to public NAT using a large address pool.

D. IPv6 provides backward compatibility with IPv4 using the Next Header field.

E. IPv6 represents large IP addresses using dotted decimal notation.

Correct Answer: ABC

QUESTION 5

[edit]
userf@router$ show system authentication-crder
authentication-order [ radius tacplus ];

Referring to the exhibit, what is the expected behavior for login attempts from users that receive a reject form from both
the RADIUS and TACACS+ servers?

A. Users are prompted for a local authentication password.

B. Users are not prompted for a local authentication password.

C. Users are prompted for the root authentication password.

D. Users are granted limited access to the device using a guest account.

Correct Answer: B

QUESTION 6

What is minimum configuration required for a Junos device to respond to SNMP requests?
A. set snmp community public authorization read only

B. set snmp public version v2

C. set snmp community public

D. set snmp trap-group public version v1

Correct Answer: C
QUESTION 7
Which two platforms are supported in both physical and virtual form factors? (Choose two.)

A. NFX Series
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B. MX Series
C. SRX Series
D. ACX Series

Correct Answer: BC

QUESTION 8

Which command will delete the current rescue configuration?
A. user@router# system delete configuration rescue

B. user@router> request system configuration rescue delete
C. user@router# delete rescue configuration

D. user@router> file delete rescue-configuration

Correct Answer: B

QUESTION 9

The monitor traffic command provides access to which utility?
A. tcpdump

B. telnet

C. traceroute

D. netstat

Correct Answer: A

QUESTION 10

What happens when a route does not match any user-configured policies?
A. The route is rejected.

B. The route is accepted.

C. The route is given a lower priority.

D. The route is sent to the default policy.

Correct Answer: D
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QUESTION 11

Which layer in the OSI model is responsible for translating frames into bits?
A. Application Layer

B. Presentation Layer

C. Data Link Layer

D. Physical Layer

Correct Answer: C

QUESTION 12
Click the Exhibit button.
[edit system ntp]
user@router# show
server 172.25.11.254;
Referring to the exhibit, which action would synchronize the local router\\'s clock with the NTP server?
A. Issue the set date ntp operational command.

B. Configure the correct NTP trusted key using the set trusted-key configuration command under the [edit system ntp]
hierarchy.

C. Configure the NTP server using the set boot-server 172.25.11.254 configuration command under the [edit system
ntp] hierarchy.

D. Reboot the router.

Correct Answer: A

QUESTION 13

Latest INO-103 Dumps | INO-103 PDF Dumps | JNO-103 Practice Test 517


https://www.passapply.com/jn0-103.html
https://www.passapply.com/jn0-103.html
https://www.passapply.com/jn0-103.html

VCE & PDF https://www.passapply.com/jn0-103.html
2024 Latest passapply JNO-103 PDF and VCE dumps Download
PassApply.com

Interface Admin Link Proto Local Remote
ge-0/0/0 up up

ge-0/0/0.0 up up inet 172.18.6.2/30

ge-0/0/1 up up

ge-0/0/1.0 up up inet 172.18.7.2/30

ge-0/0/2 up up

ge-0/0/3 up up

ge-0/0/4 up up

ge-0/0/4.0 up up inet 192.168.11.1/24

ge-0/0/5 up up

ge-0/0/6 up up

ge-0/0/7 up up

ge-0/0/8 up up

ge-0/0/9 up up

fxp0 up up

fxp0.0 up up inet 172.25.11.1/24

1o0 up up

100.0 up up inet 192.168.31.1 --> 0/0
lo0.16384 up up inet 127.0.0.1 --> 0/0
100.16385 up up inet

Which command produced the output shown in the exhibit?
A. show interfaces filters

B. show interfaces terse

C. show interfaces summary

D. show interfaces extensive

Correct Answer: B

QUESTION 14

What is the purpose of the load merge command?

A. to look for a replace tag in the configuration you load

B. to combine the current configuration with the configuration you load

C. to add or delete variables from the configuration based on the contents of a specified patch file
D. to completely overwrite the current configuration with the configuration you load

Correct Answer: B

QUESTION 15

Which two statements are true regarding routing tables? (Choose two.)
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A. The routing table is populated by the forwarding table.

B. Devices running the Junos OS can accommodate multiple routing tables.
C. Information learned from routing protocols is stored in the routing table.
D. The primary routing table for IPv4 unicast routes is inet.4.

Correct Answer: BC
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